


n 92
Na &t U [Kal L.
The moon is the Farth’s only [ =e | “aw | wio" | @6 | ssw

satellite and was formed 46 billion years

47

1079

gen
.00




The impulse engines masterfully used on Star Trek were
based on [ » o i 8 7 is developing a fusion engine
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but NASA.. plasma created from deuterium and tritium. Go Scotty!
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The Eiffel Tower 6 inches per year due to temperature changes and
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higher frequency than red light.
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trying to find "heat waste" that could indicate
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in all the people in the world, you
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lasers can cut through

materials so tough even diamond tipped blades

will not cut them.
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Temperature measures the

average
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energy always flows from an object at higher
temperature to one of lower temperature.
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This idea led him to invent a way of
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signals as musical notes made by vibrating reeds. the human voice.. the telephone.
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than in air and almost 20 times.. the molecules packed closer together.
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Astronomer Annie Jump Cannon sorted thousands of stars
based on their unique spectra, which determined their
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light from a star into a spectrum that can be analyzed.
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An average adult

250g (1/21b) of salt.
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The air around humans is made up primarily of

Nitrogen (almost 80%). Bags of potato exclude oxygen which would react with the
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are filled with nitrogen to and make them go stale.






reversing itself. Scientists aren't
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million years, the Earth's magnetic field has flipped.. why this happens.




Most cars use unleaded gasoline, because lead can
prevent platinum and rhodium
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Motor Neurons are the longest cells in the human
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400 million years ago, a year

was about 400 days long because the
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of the Earth on its axis is very gradually slowing down.
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of the tides dragging water back
and forth around the surface.
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years ago.. the dinosaurs.






In case you feel old, the Earth is 45
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to be habitable. Yet.
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the nucleus of an atom were the size of a billiard ball..
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as the Empire State Building in
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The average lightning bolt is 5 times hotter than the some ozone gas is produced, thus strengthening
0 o 7 the ozone layer in the Earth’s
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Jupiter Contains two and a

times more mass than the other seven planets combined.

And it rotates in less than ten hours which causes
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high winds.
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What did the bartender say when oxygen
hydrogen, sulfur, sodoium, and phosphorus
walked into his bar?
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Pericompsos bilbo is a beetle of the
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carabidae family, and a South American weevil has
been named Macrostyphlus frodo.

Other species named after Lord of the Rings characters
include an ancient crocodile, a dinosaur and a
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C3PO and R2D2, from the movie Star Wars are close to
being a reality since General Motors and NASA joined
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Robonaut 2 (R2), a highly dexterous anthropomorphic robot,
is now a permanent resident on the International Space
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working daily alongside astronauts.
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The warning beacons of Gondor, 1it by Pippin in
Lord of the Rings,
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used throughout Europe and as far back as the
Byzantine Empire as a means to communicate and
warn of impending enemy
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hotel. The bellman asks "may I help you with your luggage?" "I don't have any, I'm traveling light."




The communicators used on Star Trek are
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The most abundant element in the
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is hydrogen..

oxygen is the most plentiful element
in the Earth’s crust, waters, and
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Could Vulcan/human but recombinant DNA has already been utilized
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like our favorite pointy-eared character on Star
Trek ever exist? It seems impossible,
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According to the Doppler effect a wave source moving
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waves with a shorter wavelength and higher frequency.
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The light saber training droids that Luke used in Star
Wars are now a scientific reality, thanks to the brilliant

folks at MIT. 15 2 &
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a volleyball sized satellite, complete with battery
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and CO2 propellant canister that conduct experiments
in the International Space Station laboratory.
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The hottest planet in our solar system is The coldest planet in our solar system is
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The Eye of Harmony, the engine in Dr. Who's Tardis, is a star
on the verge of collapse. According to Einstein’s Theory of
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appear frozen to distant observers since mass and
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curve space and time, essentially
freezing our view of its collapse.



Astronauts from the Apollo missions staked a laser
reflector onto the Moon’s surface allowing scientists
to periodically shoot a G
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at the Moon and measure the time that it takes to return.

We know how far away the moon is at all times
which silences any skeptics who think
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that the moon landings were faked.
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The gravitational the
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energy of an object increases as its energy of an object changes only

height increases and.. if its velocity changes.



a volt is a unit for the difference of potential that

A coulomb is a unit of electric | _mer
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an amp is a unit for electric current,
an ohm is a unit of electric resistance and..

would drive one ampere of current against one ohm of
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Or in other words: the desire for the electrons in the
current to move.
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The time travel of Dr. Wwho's Tardis into the future
may be possible
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you consider the theories of Albert Einstein.
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Even though the speed of light 299792458 m/s
is a constant, time itself is not an
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Time is dependent on the location of the observer.
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Radio waves and microwaves are
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electromagnetic, used for communication, and travel
at the speed of light through space.

Radio waves do not affect organisms, but microwaves do
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they cause water and fat molecules to heat up.



The desolation of Mordor, and the Dead Marshes of
Lord of the Rings were heavily
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